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UNIT 5 REVIEW

1) The Mr. Herrera’s family and the Mr. Sinclair’s fa%bg@l d‘?ﬂtﬂ go to Disney Land.

The Herrera family pays $882.097f01" r passes f for 10 adults,a? 8 ch1ldreh The Sinclair
family pam 00 for passes forzT 1 adglt&ﬁnd’ 19 chlldren _Write two equations that can
be used to solve for the price of the adult and child admissions:
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Which of the following points lies on the given line?
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If the points {4 m) and n. 3) are solutions of the equation 2.5x - 3y = := what are the
approximate walues of m and n? A ( ,) \L Q@Q&%’D
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Write an equation that represents the graph:
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